NI'RIPN NINATONN

NPT NLV'Y 1 A0'Y NIDTN
77 D'NRIT71,[AN NIREN NI 0NIT AN p(X) DX D'opn
p(X) -2 nnnn nITIizan NX

ymax B}

x=xmin+(xmax'xmin)
* ran2(&idum);

y=ymin+(ymax'ymin)
* ran2(&idum);

if (y < p(x)) ...

ymin

nmax



NI'RIPN NINATONN

N'7'' N1'X NP'ITA NV'Y DMMYSY :jNo'n

21N NX 0'rTatan ™ p(X) -7 nhnn nvwan 2ma N DN A nn ox

v ADITN
p(x)
ymax T
Ymin _— = X
X X

min max



NI'RIPN NINATONN

9N NV 2 DLV
:NINANON 7V N'YNIID0NNL 7V TIO'N PINA NYNNYN

p(x) =1, 0 <z <1 :x%waTnxn nayonan nam

72723¥ D y-7 X-n (D" INYN 'N'Y) N'YNII90110 NIYYT D'XIN 1INIX
y(az) N'YN1I9011LVN NX XIXNT7 X'A NYLVNA .DNIXD p(y) NIA7oNN
.D'NNNN Y -7 X 7D n17wh N7 'woxnw

JINANO0N NMIN'Y W' TX ,0'IoN Y -7 191N X 72 OXWY WIX TIO' ZIn
n2w1 XIn ™) ,nNanonnn 1% 7'>n X 7w n'1ion NNV oX ,7vnY
|07 NIV NP X .NNanonnn 1% 7'On D DAY y ¥ NHLVY

X 0¥ N1 0DA) TIO'A 7In NX 737,y - y+dy 7 nhwaw X — x+dx

p(y)dy = p(x)dx (810N T e TN

dr ("21'n TN p-w [11D) P

p(y) = p(x) |3

3



NI'RIPN NINATONN

p(y)dy = dz :]p' p(a;) =1 -wn2aT1nn

T = Jp(y)dy = F(y) :anpnon,p(y) mraa

y = F'(z)

'y =7 X NX NI7WY 0'xIN 1INIX 72N

11 N2IT
p(Yy) nx n"'m1In oI
:D'awNn T™X

x=2y+C

-¥ 0¥ 'INAYN DXEN NN DT1YN
27 . y=0.5 -7 n7wn x=0

Y
r=2y—1= pr(y)dy



1.8 1

1.6

1.4

1.2 9

0.8 1

0.6

0.4 A

0.2

NI'RIPN NINATONN

7722 ,NNX7 2N nd At . y=1 -7 nhwr x=1 1ann axpa 2navan

. p(y) 791 p(X) 7w 7mman

X 7¥ Q19 Y DX DNID LI'WDY

y=g(z+1)
. y=0.6 -7 n7w1 x=0.2 7wn% ,ran2 natya X NxX 0'7"an NI
2 NNAI'T
p(y) xy V2 y=0-4
7mM
! —1/2 1/2 |4

on dy = 2y'*|, =4

TN
1, —1/2

. ply) =7y



NI'RIPN NINATONN

A'YOY

T = fp(y)dy =3y'*+C

.C=0 |57 :y=0 -7 n7v1 x=0

y = A2 'y -7 0"nio
y(X) =7 "0o'72ax INNO '8 D'MYO7? jInon
INRAIT

p(y) o<y +e”

1 2
r X5y +e’

y(x) =77



NI'RIPN NINATONN

1I9'NN NU'Y 7Y 1971 1IN

JF(Y)=X -w VD y -7 o'n1w x 0 ,'wdy .F(y) nxi,p(y) nX nnrxn
7'27 91AN 19'2N LPOIND XN TN DIND ') NDOIN N9 KT
NIn Yy — y+dy Ma 1INRAY D Y NITI GARXIND (D719 7Y

- p(y)dy

wmiformy &

deviate in Filyv) = [';p[,r]c'.'lr

P&

B

«— p(¥)

v

transformed
deviate out



NI'RIPZNX NI'ATONN

119NN APITA NIV'Y AIT'Y 13 ALY

NL'YA D A Xt IN? Lf(X) nr¥pawa oo .p(X) NX nnren
n'nn f(X) -w 0'0in .x D2 f(X)>p(X) -& naIn .nvIYON DT
N7 X' f(X) ™~ ,n'ian p(x) ox .p(X) -7 naNp1 NOIYS DX
f(x) -7 q19'nn nu'wa n'wnnwn .A>1 Nin f(X) -7 nnnn nvwn

A
first random
deviatein ——2F-——=—==—=—-=—=------S .
:
[ tj}f (xX)dx —> Y
1 .
rejectx
) —> JER0 L fi)
. .
T ey second random
PX) deviate in
0 0



NI'RIPN NINATONN

ran2 oy A -7 0 'a z "oon o'y an . F(x) =) f(x)dx nx nryn

7 12'0nVY D X NIATONN ARXINN . F(X,) =z -w 70 X, -7 mIX p'n71v1
. p(xX)dx nia?onn owxin nnax 7ax . f(x)dx -7 “xarxionns x — x+dx
190N 0'7MAN , X, 727NNV "INX 1NEMNTH NO'YY anliT 17N D'YIY TR
D'7IT NINX, X, ATIRIN DX D'NRI7 TR ,W < P(X,) DX .f(Xp) 70 faw
f(x) nniy? p(x) 7 nhnn nVYA = [N D'YNNYNY NITIZIN TINK .ANIX
A A/A =

first random
deviatein — [ TTTTTTTTTTTTToooS

Z

reject x

f(’f) RN __f (XO) 3
‘ T acceptxy
N secc_)nd yandom
DEx) deviate in
0 0 - L

X0
n1'Nan .7 x%%7 {(x) 72y q19'nn nu'wa p'Unnwn nayn
A -2 p"'¥n v N795n oy 7AaX 2'7Man N0'YA IND DT ,N'OM 9



NI'RIPN NINATONN

Xx:1-2 “NNAIT

p(e) = (1-1)/(1~In(2)

w17 npn f(X) 7'awa
TV N'¥21197 INIX A7
AYONY NNd

flx) =14z —1
: X=1 n nw¥1aAvIX
Flx) =0.72° — z + 0.3
2 |INNO 190

0=0.72°—-2+03 - F

10

—
—
n
-
~
-
(o]
-
(o]
n




X

NI'RIPN NINATONN

 144/1-28(0.3-F)  14/0.1612.8F
14 14

:JINNOn

F=0 -w> x=1 72p% 1 (- X7) + nnp7 "UNO
_ F(:Ij _ 2) — 11 :XIn f(X) 72 nnnn nowan

.0.2 7un", 1-7 0 "2 "©90n 7M1 'YOyY TN
.0.22 <=1.1 -2 790

1.8

1.6 1

1.4 1

1.2 1

0.8

021 S/

. X=1.344 ™~ ,F=0.22 nx

. 1(1.344)=0.881 ,1"wdy

, 1-7 0 "2 2"90n TIY 7711 TN
. 0.6 7un%

. 0.529 <= 0.881 -2 179m

0.6// g . p(1.344)=0.833 ,1"YUDY
041 / 0.529 < 0.833 -w judn

AT NTH1A YNNW] TX

12 14 16 18 2 . x=1.344

11



